T

=N
JEEN;

N
V] l:l\

fhZe (AR01)

T4 | R6fEL WK EERAR I - R H  MESRE LF (|Hu FERX Sy I Rk M - e fis
Fhetr) THEXS e
THFX Sy - TFE - FER - A5 Hiks BT e (FiE) & (5E) B e

iy

= 1
7K BEAK G T
= 1
R T
= 1
ay)-}p 2y - MRS 18-8-40 (E4F)
W/C<60%
m3 3
Tl
UIMEIED)
m2 33
g
5
m 27
R RC-40 t=100mm
m2 15
FEmEIE
m2 15
[ $ J< H HE A T
= 1
TR E T
= 1
EERellin SELERRRER 7 A7 7V M HERR, Sl 15
VBRIV & T Omm
m 111

=N

N
3o




TR

iR hER (A01)

TE4 | R6fEL MR EEHAR FIRERRE T8 (FHW FEX Sy IN Rk A - &
FhfefrA) TEHEXS it 75 A
THEX 5y - TFE - FER - A5 Hikg =<ty B (RiED) o (4R Bk SLES
A AE R SERRERI 7 A7 7V MEERR, SRS
As them
m2 40
A EE R A EEERRCRERN 200 - M EE R, Sl IR
BBV LCo 123cm
m2 26
el TR T AT 7 Mk
m3 2
RISy FRTER] T AT 7V bR
m3 2
FReCeiile BRI 2V - Nk
m3 6
LGy BRI 2 - bk (BERR)
m3 6
TAT7 WAL T
= 1
FJE EE) AEVREEE - 457 (2. 30LL 2. 40t/m3R
Tii) , MOEHERS  BAEERIET 23,
ARLEE 50mm, SEHINE B 1. dnRi (1 m2 61
b AR (EER) PRAEAA FRSE &R, AT BURS 1 RC-40
A E D JE:150mm
m2 61
BT 5 R
= 1
T
= 1
— 2 — /AEE%/E\




==8b, H=H.4/\
THFH =R RER (K01)
T4 | R6fEL WK EERAR I - R H  MESRE LF (|Hu FERX Sy I Rl A - e
Fhetr) THEXS e
THFX Sy - TFE - FER - A5 Hiks BT e (FiE) & (5E) B e
FIEE A-1 FHEEAR R HI B &
Al, A3, A5, A7, A9, A11
e 6
FHBE A-2 FH BRI : 1t B &
A2, A4, A8, A10, A12
e 5
PHBE SR T
= 1
ay)-}p 2y - MRS 18-8-40 (E4F)
W/C<60%
m3 4
Tl
UNEIRE )
m2 40
pran ey RC-40 t=100mm
m2 9
FEEFEE
m2 9
(==
= 1
PRYE Y
m3 43
PR L
m3 36
Y5y UL
m3 7
— 3 — /AEE%/E\




T

=N
JEEN;

N
V] l:l\

fhZe (AR01)

T4 | R6fEL WK EERAR I - R H  MESRE LF (|Hu FEXS I Rk M - e fis
Fhetr) THEXS e
TEHX Sy - TFE - fER1 - 5] Hiks BT e (FiE) & (5E) Tk e
EY T
= 1
HEMEEE L T
= 1
)Y - Mg IS P U L WEIEW X 5y BERRRE1E Y, TIEX 4y
U ATE S BEMIE T
m3 3
TEHRALEE T
= 1
nXLHXL Gz INVZARINY- (ﬂ/«%)
UBIAE S
m3 3
PGy FRFRRI -2y ) — ik (M)
URIAER S
m3 3
T an
= 1
ARIEEHT
= 1
BT EEAEE
B:EfH]
ANH 10
EIR
= 1
;HEE{&PX
= 1
— 4 — /AEE%/E\




Ry =y

=N
JEEN;

weth e (AR01)

TH4 | R6fL BMfkeEEIAR 1 - MEs  MERELE (#Ho HEX S ONETRHIUEE G - Sofe
FHlefr) THXSy TR HE fis
THX 5y - AR - 85 - A0 Bikk HLAZ ¥ (el e (4D K e
HLima (K L)
= 1
ol T
= 1
Bl
= 1
TRl
= 1
— I A
= 1
T ks
= 1
THABIRE K O 5 1 2 B4
= 1
THEF
= 1
5 - T IR




